3.1 Simplifying Algebraic/Varible Exprssions by
Combining Like Terms (CLT) p.82

Expressions can't be solved because they don't have

an_equal  sign
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. They can only be

An algebraic expression is in simplest form when it
has no like terms and no parenthesis.

Steps:

v Identify like terms by circling them or boxing
them or underlining them

v' Combine like terms (CLT) w/variables first by
adding or subtracting the coefficients; highest
exponents first; alphabetical order

v" Combine constants last
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